
Government of India
Ministry of Defence

Ordnance Factory Board
10A, S.K. Bose Road

Kolkata - 700001

CENTRALISED VENDOR REGISTRATION CERTIFICATE

This is to certify that M/s Tejwala Engineering Co., Bengali club Market Bengali club Market Jabalpur Madhya Pradesh is
registered at Ordnance Factory Board for following Items.

 

Sl.
No.

Factory / Unit Item Nomenclature Initial Date of
Registration

1 Vehicle Factory Jabalpur HEX HEADED BOLT M12 60 Description : HEX

HEADED BOLT M12 60 [ENR Registration]

01-04-2019

2 BOLT M8 X 85 IS:1364 GR 8.8 [ENR Registration] 01-04-2019

3 CASTLE NUT M10 IS 2232 Description : CASTLE

NUT M10 IS 2232 [ENR Registration]

01-04-2019

4 CASTLE NUT M8 IS 2232 Description : CASTLE NUT

M8 IS 2232 [ENR Registration]

01-04-2019

5 CIRCLIP A14X1 IS 3075 Description : CIRCLIP

A14X1 IS 3075 [ENR Registration]

01-04-2019

6 Dunadhesive 758 dendrite PC 65 Description :

Dunadhesive 758 dendrite PC 65 [ENR Registration]

01-04-2019

7 Fire Extinguisher Description : Fire Extinguisher [ENR

Registration]

01-04-2019

8 Hex bolt 3 by 8 UNF one and half inch Bolt with sun

lock nut and spring washer high tensile Description :

Hex bolt 3 by 8 UNF one and half inch Bolt with sun

lock nut and spring washer high tensile [ENR

Registration]

01-04-2019

9 HEX BOLT M10X20 IS 1364 Description : HEX BOLT

M10X20 IS 1364 [ENR Registration]

01-04-2019

10 HEX BOLT M10X30 IS 1364 Description : HEX BOLT

M10X30 IS 1364 [ENR Registration]

01-04-2019

11 HEX BOLT M 12 30 IS 1364 Description : HEX BOLT

M 12 30 IS 1364 [ENR Registration]

01-04-2019

Page 1/7



12 HEX BOLT M 12 40 IS 1364 Description : HEX BOLT

M 12 40 IS 1364 [ENR Registration]

01-04-2019

13 HEX BOLT M20 1 POINT 5 40 Description : HEX

BOLT M20 1 POINT 5 40 [ENR Registration]

01-04-2019

14 HEX BOLT M20X50 IS 1364 Description : HEX BOLT

M20X50 IS 1364 [ENR Registration]

01-04-2019

15 HEX HD BOLT M12 45 IS 1364 Description : HEX HD

BOLT M12 45 IS 1364 [ENR Registration]

01-04-2019

16 HEX HD BOLT M14 35 IS 1364 Description : HEX HD

BOLT M14 35 IS 1364 [ENR Registration]

01-04-2019

17 HEX HD BOLT M5 15 IS 1364 Description : HEX HD

BOLT M5 15 IS 1364 [ENR Registration]

01-04-2019

18 HEX HD NUT M5 IS1363 Description : HEX HD NUT

M5 IS1363 [ENR Registration]

01-04-2019

19 HEX HEAD HIGH TENSILE BOLT Description : HEX

HEAD HIGH TENSILE BOLT [ENR Registration]

01-04-2019

20 HEX HEAD SCREW M12X50 Description : HEX

HEAD SCREW M12X50 [ENR Registration]

01-04-2019

21 HEX HEAD SCREW M8X30 Description : HEX HEAD

SCREW M8X30 [ENR Registration]

01-04-2019

22 HEX HEADED BOLT M 20 45 MM Description : HEX

HEADED BOLT M 20 45 MM [ENR Registration]

01-04-2019

23 HEX HEADED BOLT M6 1 1 12 MM Description :

HEX HEADED BOLT M6 1 1 12 MM [ENR

Registration]

01-04-2019

24 HEX HEADED SCREW M12X1.75X30MM[90] 16-07-2022

25 HEX HEADED SCREW M12X25MM[90] 16-07-2022

26 HEX HEADED SCREW M8 16 MM Description : HEX

HEADED SCREW M8 16 MM [ENR Registration]

01-04-2019

27 HEX NUT M20 IS:1364 [ENR Registration] 01-04-2019

28 LIQUID GASKET ANABOND 673 Description :

LIQUID GASKET ANABOND 673 [ENR Registration]

01-04-2019

29 M-SEAL GENERAL PURPOSE EPOXY COMPOUND

(MS-801/MSH-250) Description : M-SEAL GENERAL

PURPOSE EPOXY COMPOUND (MS-801/MSH-250)

[ENR Registration]

01-04-2019

Page 2/7



30 NUT 3 BY 8 UNF Description : NUT 3 BY 8 UNF

[ENR Registration]

01-04-2019

31 PTFE (TEFLON) THREAD SEAL TAPE EACH OF 10

MTR. LONG X 12 MM 1(ROLL WIDE) SAMSON

MAKE Description : PTFE (TEFLON) THREAD SEAL

TAPE EACH OF 10 MTR. LONG X 12 MM 1(ROLL

WIDE) SAMSON MAKE [ENR Registration]

01-04-2019

32 SPLIT PIN 1 POINT 6 X10L IS 549 Description :

SPLIT PIN 1 POINT 6 X10L IS 549 [ENR

Registration]

01-04-2019

33 SPLIT PIN 1 POINT 6 X12L IS 549 Description :

SPLIT PIN 1 POINT 6 X12L IS 549 [ENR

Registration]

01-04-2019

34 SPLIT PIN 2 X25L IS 549 Description : SPLIT PIN 2

X25L IS 549 [ENR Registration]

01-04-2019

35 SPLIT PIN 2 POINT 5 X 25L IS 549 Description :

SPLIT PIN 2 POINT 5 X 25L IS 549 [ENR

Registration]

01-04-2019

36 SPLIT PIN 3 POINT 2 X 25 L IS 549 Description :

SPLIT PIN 3 POINT 2 X 25 L IS 549 [ENR

Registration]

01-04-2019

37 SPLIT PIN 5 50 IS 549 Description : SPLIT PIN 5 50

IS 549 [ENR Registration]

01-04-2019

38 SPRING WASHER M 20 IS 6735 Description :

SPRING WASHER M 20 IS 6735 [ENR Registration]

01-04-2019

39 synthetic adhesive make dunlop of grade S758

oblique fevicol SR998 Description : synthetic

adhesive make dunlop of grade S758 oblique fevicol

SR998 [ENR Registration]

01-04-2019

40 QUICK DRYING (Q.D.) THINNER FOR FINISH AS

PER TELCO STANDARD SS-7530 Description :

QUICK DRYING (Q.D.) THINNER FOR FINISH AS

PER TELCO STANDARD SS-7530 [ENR

Registration]

01-04-2019

41 Thinner NC Base Description : Thinner NC Base

[ENR Registration]

01-04-2019

42 HIGH TENSILE HEX. BOLT [ENR Registration] 01-04-2019

43 BOLT M 12 20 WITH NUT[90] 16-07-2022

Page 3/7



44 PAINT ENAMEL RFU SYNTHETIC EXTERIOR

FINISHING BRUSHING GOLDEN YELLOW

Description : PAINT ENAMEL RFU SYNTHETIC

EXTERIOR FINISHING BRUSHING GOLDEN

YELLOW [ENR Registration]

18-04-2019

45 LPTA INSULATING BLACK PVC TAPE Description :

LPTA INSULATING BLACK PVC TAPE [ENR

Registration]

18-04-2019

46 LPTA Hex Nut M16 X 2 Description : LPTA Hex Nut

M16 X 2 [ENR Registration]

18-04-2019

47 LPTA PLAIN NUT M12 X 1 75[90] 16-07-2022

48 LPTA PLAIN NUT M12X15[90] 16-07-2022

49 LPTA Set of WASHER Description : LPTA Set of

WASHER [ENR Registration]

18-04-2019

50 LPTA Thinner Description : LPTA Thinner [ENR

Registration]

18-04-2019

51 LPTA Dunadhesive Description : LPTA Dunadhesive

[ENR Registration]

18-04-2019

52 LPTA SL CH HEAD SCREW M5X20 WITH NUT

Description : LPTA SL CH HEAD SCREW M5X20

WITH NUT [ENR Registration]

18-04-2019

53 LPTA CHROME VANADIUM COMB PLIER 180

Description : LPTA CHROME VANADIUM COMB

PLIER 180 [ENR Registration]

18-04-2019

54 LPTA CHROME PLATED WHEEL SPNR 27X30

Description : LPTA CHROME PLATED WHEEL

SPNR 27X30 [ENR Registration]

18-04-2019

55 LPTA NI CR PLATED ADJ WRENCH A300 T

Description : LPTA NI CR PLATED ADJ WRENCH

A300 T [ENR Registration]

18-04-2019

56 LPTA C PLATED SPANNER DEAC 8X10 TO

Spanner 8x10 Description : LPTA C PLATED

SPANNER DEAC 8X10 TO Spanner 8x10 [ENR

Registration]

18-04-2019

57 LPTA NI CR PLATED SPANNER DEAC19X22

Description : LPTA NI CR PLATED SPANNER

DEAC19X22 [ENR Registration]

18-04-2019

58 LPTA NI CR PLATED RING SPANNER24X27

Description : LPTA NI CR PLATED RING

SPANNER24X27 [ENR Registration]

18-04-2019

Page 4/7



59 LPTA NI CR PLATED L D SCREW DRIVER

Description : LPTA NI CR PLATED L D SCREW

DRIVER [ENR Registration]

18-04-2019

60 LPTA CR PLATD D E BX SPNR SW17XSW19

Description : LPTA CR PLATD D E BX SPNR

SW17XSW19 [ENR Registration]

18-04-2019

61 LPTA ENGNRS SCREW DRIVER 1 2X8X150

Description : LPTA ENGNRS SCREW DRIVER 1

2X8X150 [ENR Registration]

18-04-2019

62 Cr PLTD DE SPANNER 8X9[90] 29-03-2022

63 Cr PLTD DE SPANNER 14X15[90] 29-03-2022

64 NIC CROME PLATED RING SPA10X11[90] 29-03-2022

65 CROME PLATED DE SPANNER 25X28[90] 29-03-2022

66 CROME PLATED SCREW DRIVER 8 inch[90] 16-07-2022

67 Cr PLTD DE SPANNER 12 X 13 mm Description : Cr

PLTD DE SPANNER 12 X 13 mm [ENR Registration]

18-04-2019

68 CR PL HEX SOC SCREW KEY 6 MM[90] 29-03-2022

69 CR PL HEX SOC SCREW KEY 10 MM[90] 29-03-2022

70 Cr PLTD DE SPANNER 24X26[90] 29-03-2022

71 NIC CROME PLATED RING SPA18X19[90] 29-03-2022

72 CROME PLATED DE SPANNER 21X23[90] 29-03-2022

73 Cr PLTD DE SPANNER 16 X 17 Description : Cr

PLTD DE SPANNER 16 X 17 [ENR Registration]

18-04-2019

74 NIC CROME PLATED RING SPA19X22[90] 29-03-2022

75 CROME PLATED DE SPANNER 24X27[90] 29-03-2022

76 NIC CROME PLATED RING SPA24X27[90] 29-03-2022

77 NIC CROME PLATED RING SPA14X15[90] 29-03-2022

78 Cr PLTD DE SPANNER 19X22[90] 29-03-2022

79 CR PL HEX SOC SCREW KEY 12 MM[90] 29-03-2022

80 NIC CROME PLATED RING SPA16X17[90] 29-03-2022

81 NIC CROME PLATED RING SPA12X13[90] 29-03-2022

82 DE SPANNER SAE 5 by 8 inch X 9 by 16 inch

Description : DE SPANNER SAE 5 by 8 inch X 9 by

16 inch [ENR Registration]

18-04-2019

Page 5/7



83 CR PL SCREW DRIVER12 inch X 2 X 13[90] 29-03-2022

84 CR PLATED SCREW DRIVER PHILIPS[90] 29-03-2022

85 CR PL BALL PEIN HAMMER160Z by 500 Description

: CR PL BALL PEIN HAMMER160Z by 500 [ENR

Registration]

18-04-2019

86 PLAIN NUT M 12[90] 16-07-2022

87 Paint Signal Red Colour 537 Description : Paint

Signal Red Colour 537 [ENR Registration]

18-04-2019

88 Paint Black Description : Paint Black [ENR

Registration]

18-04-2019

89 HEX HEADED BOLT M 12 X 1.75 X 50 MM[90] 16-07-2022

90 BOLT M12 X 1 POINT 5 X 125 PART NOL1011225

IS 1364 92 PT I P 8 8[90]

16-07-2022

91 VEHICLE REAR VIEW CAMERA SYSTEM[90] 16-07-2022

92 Plain Washer M 8[90] 16-07-2022

93 Plain Washer M 10[90] 16-07-2022

94 Plain Washer M 14[90] 16-07-2022

95 HEX SCREW M10 PART NO L2011020[90] 16-07-2022

96 PLAIN NUT M 10 PART NO L3011018[90] 16-07-2022

97 PLAIN NUT M 10 PART NO L3021018[90] 16-07-2022

98 Gun Carriage Factory All Types of Fasteners, Rivets, Nuts & Bolts

Description : All Types of Fasteners, Rivets, Nuts &

Bolts [ENR Registration]

03-04-2019

99 Many of tools & Dies Fixtures Description : Many of

tools & Dies Fixtures [ENR Registration]

03-04-2019

100 Copper & Copper based alloys Description : Copper &

Copper based alloys [ENR Registration]

03-04-2019

101 Ordnance Factory Khamaria BRASS ROD 6point35MM IS 319 GRD 1 HB LF

0711904006 Description : BRASS ROD 6point35MM

IS 319 GRD 1 HB LF 0711904006 [ENR Registration]

26-07-2023

 

Registration No. : JBPJ01299E

Initial Date of Registration : 01-04-2019

Downloaded at : 27/04/2025 11:19 am

Page 6/7



 

Conditions of Registration:

1. This Registration has been carried out based on self-declared documents furnished by Vendor.

2. Changes, if any, in Address or constitution of the Firm, major Machinery/Equipment or Technology should be intimated to the

Registration Authority immediately.

3. The Registration Authority reserves the right to cancel this Registration Certificate at any time.

4. Registration will be valid for 05 years with automatic renewal unless cancelled on account of administrative reasons.

 

 This is a system generated certificate. Hence no separate signature is required.

 

NOTE: It is only a registration of vendor. It does not grant any special supply status to the Vendor. It is for the purpose of
participation in Tender process only.

 

 

Powered by TCPDF (www.tcpdf.org)

Page 7/7

http://www.tcpdf.org

